Model Set-III
Class &l - X

fauar - Science (fagm )

AT YT General Instructions)

1. Toid ST % fou foFd @@ & 31 *! wardl A8l arill

(There is no negative marking for any wrong answer)

2. Y-UA q @S W
(There are two sections in the questions paper)

©Uug - I (Section-I)
a'{ﬁﬁf@ W99 (Objective questions)
el 3% Total Marks - 40
el Yl %I H0 Total No. of Questions) - 40
@ug - II (Section-II)

R a@ﬁ% U1 (Non-objective question)

el 3 (Total marks) - 40
oy I q9H (Short Answer type question) - 2x12=24 3iF
ECECE R R (Long Answer Type Question) - 16 3%

1'11,0'”—8 & Ry s



@Uus-I (Section-I)
TS U9 (Objective Question) 1x40
gt gv @1 SW T

Write the correct answer of all questions

g <du % g, a%g ¥ ol W et wfafda wra e 22

(A) HHaA (B) 3&qdd

(C) 3w (D) ¥ AT B

By which mirror, the image of an object forms small and virtual?
(A) Plane (B) Concave

(C) Convex (D) Both A and B
Tt § Tl B 3 TR ot ®, F@i?

(A) TUEET & HROT (B) #Uadd & SR
(C) < & HR (D) TEH ¥ #E T
The rod immersed into water seems bend, why ?

(A)  due to reflection (B)  due to refraction
(C)  due to both (D)  None of these

G T H § fRw du @1 SwEm fen s 22

(A) 3rEad (B) 39«

(C) wHaa (D) g &l
Which mirror is used for shaving ?

(A) Concave (B) Convex
(C) Plane (D) None
2D &Hdl 91 W i WIHESd T4 eri?

(A) + 50 90 (B) -50 "o
(C) + 20 o (D) -20 |0
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What will be focal length of a lens whose power is 2D?

(A) +50cm (B) -50cm
(C) +20cm (D) -20cm
drfefiear & faRo B9 fFa o %1 STEM @i 87
(A) Tl SRR (B) 3ud

(C) wHdATA (D) 3

Which lens is used to remove Hypermetropia ?

(A)  Spherical cylindrical (B) Convex

(C) Plano convex (D) Concave
forg W1 & YR w1 TR AR B 82
(A) ST (B) fem

(C) = (D) drem
Which colour of light has maximum wavelength ?
(A) Voilet (B) Blue

(C) Red (D) Yellow
g4 359 & 9w fEea 2

(A) hrell (B) e
(c) dien (D) <=

The sun looks at the time of sunrise.

(A) Black (B) Blue

(C) Yellow (D) Red

fasa @1 OS2

(A) THR (B) diee
(c) o™ (D) T
What is unit of Potential ?

(A) Ampere (B) Volt
(C) Ohm (D) Watt

;}mw&h (%
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10.

11

12.

TRRIY 6 & B g 2

(A) R=VXI (B) Rzé

() R=% (D) R=VI

The formula to calculate resistance is i

(A) R=VxI (B) =¥

© rR= (D) R=VI

fehaiare e aEE 2l

(A) o/ = (B) faga 3=t =
(C) 9HT I (D) fagga wifem =1
Kilowatt hours (KWH) is unit

(A) of current (B) of electrical energy
(C) of time (D)  of electric power

faga wifm fe fagra W snuifa 27
(A) 90 & IHHF J9E (B) faga gt WO
(c) @ gasd (D) Wf@ forpa

On which principle an electric generator is based on ?

(A) Thermo effect of turrent (B) Electromagnetic induction

(C) Induced Magnetic (D) Induced current
fom S 9?1

(A) B AR H (B) ™ ar d

(c) @df aR# (D) IW AT BH
Switch is connected

(A) in cold wire (B) in hot wire

(C) in earth wire (D) inbothA &B

Amarceh 2o -

RIS g



13. W 91 IS b1 TR g 82

(A) W&l (B) hiael

(c) ufermm (D) wiEfa® &
Which is renewable source of energy ?

(A) wood (B) Coke

(C) Petroleum (D) Natural Gas

14. THEE Tohge! 3R @72

(A) Tu (B) Fe

(C) & (D) Si

Hematite is the ore of ?

(A) Cu (B) Fe

{(C) 8 (D) si

15. foa eEgwE o fgey 27

16.

(A) CHs (B) C2H2

(C) C4Hio (D) C2Ha

In which hydrocarbon has a double bond ?

(A) CHa (B) C2H2

(C) CsHio (D) C2Hs

CaOCl, @1 Jafed 8 & 87

(A) Hfcwam FREe (B) wifeqn sorEe
(c) fatser =i (D) X A% UfE

What is the famous name of CaOClz ?
(A)  Calcium chloride (B) Sodium chloride
(C) Bleaching Powder (D)  Plaster of Paris

L

ﬂmw»@;f\ R



1

18.

19.

20.

HTEA T & dEdd Fel o e s w87
(a) 1 (B) 2

{3 (D) 4

How many electrons in outer most orbit of carbon atom ?

(A) 1 (B) 2

LGl 3 (D) 4
TehH T THA G &7

(A) CnHan+2 (B) CnHan-2
(C) CnHon (D) CnH2na

The General formula of alkene is ?

(A) CnHane2 (B) CnHzno

(C) CnHan (D) CnHa2na

T forerad ol forems &t Hfien s ®, sueh gaifad pH 22
(a) 1 | (B) 4

(E)- 5 ‘ (D) 10

A solution turns red litmus to blue, its pH value is likely to be?

(A) 1 (B) 4

{C)- 2 (D) 10

ifee R § #1eA & foRe euEy w1 SuA fEar s 22
(A) =RH (B) &

(C) UHES (D) eTEEYH

Which allotrope of carbon is used in making of pencil ?
(A)  Charcol (B) - Coke

(C)  Graphite (D) Isoprine

4}\/14’1”»% 0.
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21.

22,

23.

24.

mwéﬁm‘ﬂmwﬁwwﬁ?

(A) AferdiaRTor (B) sfa&u

(C) wamw (D) ¥ ¥ # &
The removal of oxygen from a substance is called ?
(A)  Oxidation (B) Reduction

(C)  Corrosion (D)  None of these
Heetla # qe afiato w1 enuR T

(A) 9] g (B) WRHI &

(C) ] i (D) T ¥
What is the base of element classification by Mendaleev's ?
(A)  Atomic mass (B)  Atomic number
(C)  Atomic radius (D)  Atomic density

%ﬁmﬁgaﬁémﬁmmmﬁﬁmmwm
S 272
(A) NaOH (B) NacCl

(C) NaxCOz (D) NaHCO;

Which compound of sodium is used to convert hard water into

soft water ?

(A) NaOH (B) NaCl

(C) NazCOs (D) NaHCOs;
frefefea & s e 22

(A) HC (B) NaOH

(C) KoSO4 (D) NH4OH

Qﬂb Ao sho
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Which of the following is salt ?
(A) HCl (B) NaOH
CEJ R8O, (D) NH40H
25. HEA AR F d& A a4 22
(A) 2 fafea= (B) 3 fufaam
(Cc) 4 fafem (D) 1 fafe==
What about the number of carbon compounds is ?
(A)  2-Million (B)  3-Million
(C)  4-Million (D)  1-Million
26. FAUURTH 1 FILHF w1 27
(A) 391K (B) 351K
(C) 334K (D) 111K
What is the boiling point of chloroform ?
(A) SO1K (B) 351K
(C) 334K (D) 111K
27. fawrt St st S Sifer & forw were @ W w9 @ anfag w2
(A) Hahl W (B) V&= W

(C) & Tt dref W (D) gt w

Hetrotrophs depend directly or indirectly for their inheritance on
(A)  Fungi (B) Algae
(C)  Green Autotrophs (D)  Soil

28. T sl @ ¥ gewn T

(A) SToHIESH R (B) YSII-G¥A9U N

(C) vadd gM (D) 9dHS gW

Q) JJ(MY%% '



29,

30.

3L

32,

Plants get rid on the extra water by

(A) Transpiration (B)  Photosynthesis
(C) Respiration (D)  Leaf-fall

HIE 9 g5F Thad &1 90 & W grfed 2

(A) U @ (B) va&@d 9

(C) s ¥ (D) ufEeT &

The kidney in humans is the part of a system which is related to
(A)  Nutrition (B) Respiration

(C) Excretion (D) Transportation
BESl ® Tl urn s 2

(A) wfe=s (B) dfehr

(C) 7@ (D) ¥l

Which is not found in hydra.

(A)  Brain (B) Nerves

(C) Mouth (D) Tontacles

X TR FIfTH & He @meh e ) ey -
(A) gftem (B) T

(C) M (D) 3mam

The gap between two neurons is called as :

(A)  Dendrites (B) Synapse

(C) Axon (D) Impluse
frefeafea & 9 ®F-w1 =y =l € 2

(A) zgfem (B) emsiferd

(C) T=psH (D) WA
Which of the following is a plant hormone ?

(A)  Insulin (B)  Thyroxine

(C)  Oestrogen (D)  Cytokinin
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34.

35,

36.

10

SE-6 U e ok SfeEt <A &2

(A) T (B) I%d

(c) = (D) 3TRE

Which of the following is both an endocrine and exocrine gland.
(A) Kidney (B) Liver

(C) Adrenal (D) Pancreas

AT 1 e gRT Bl 2

(A) Tt (B) e

(C) wivifeaw (D) <Rt

A sexual reproduction takes place thought budding in :
(A) Amoeba (B) Yeast

(C) Plasmodium (D) Leishmania

A9 % wed H ®IK & G 2

(A) R/ (B) =R

(c) dmM (D)

The number of Chambers in the heart of the manis :
A 2 g (B) 4

€ 3 D) 1

Ry 3uf¥te wiEd @ g

(A) ufgai § (B) =< H

(c) =it fifswesti (D) = @sft o

Plant waste material stored in :
(A) Leaves (B) Bark
(C) Cellular vacuoles (D)  All of these

%qucﬂt% .

Rets

Sam,



4 37.

38.

39,

40.

11

Hfess SuEEt @ -
(A) ¥reA & fog (B) %4 WA & fou
(C) ¥R 1 Hger 9 & fau (D) Suds wsht

The brain is responsible for —

(A) Thinking (B) Balancing the body
(C) Regulating (D)  All of these
ot gfewo @ g forw @ sifus gumar & -

(A) = & foemeff (B) feifsit

(C) wHhEl (D) e

In evolutionary terms, we have more in common with a
(A)  Chinese school boy (B) Chimpanzee

(C) Spider (D) Bacteria

e aqe o et frefeia e 22

(A) ¥, Y9, 99T (B) M, d&hel, wies
(C) wdal & fooHl, &%, Hig &1 @
(D) %, T&HS!, IH

Which of the folowing groups contain non-biodegradable items.
(A)  Grass, Flower, Leather (B)  Grass, wood, plastic

(C)  Fruit peals, cake, lemon juice (D) Cake, wood, grass

"The origin of species". TM® Y& fha faEt ?

(A) eifdA (B) sfufe

(c) = (D) % ¥ HE &l
Who wrote the book "The origin of species"?

(A) Darwin (B)  Operin

(C) Lamarck (D)  None of these

0 Avaveshs, .



Section-II
Qusg - II
oY ITT U9 (Short Answer Type Question)

mmﬁwmwwsoﬁsowﬁé‘u

Write the correct answer of any four questions about 30 to 50

words from every sections.

WUS-3 (Section-A)
TR % TadT & Fem w5 fag)

Write laws of reflection of light.

ﬁamaﬂmeaﬁwﬂmﬁmmé?

Why is a convex mirror used as sidemirror ?

U el oW B Wl 2D R | wiew @ 7@

A Concave lens power is -2D. Find its focal length.

Th 39 gy &1 a7 aref 29

What does one ohm resistance Mean ?
A 1 If-gtE g [

Write Maxwell's right hand rule.

ST IS & e = L

What are advantages of Geothermal energy ?

GUS-9 (Section-B)
HaASH sfafman =0 82w seE @

What is the combination reaction ? Give an example.
frefafe 1 g 9m forg 2

CNG, LPG
Write the full name of the following ?
CNG, LPG

hoe -
Qs i



10.

11.

12.

13.

14.

2.

16.

17

18.

13

pH & 1 82 & &1 pH AF @ |

What is pH scale ? Write the pH value of blood.

BESIHAING 3T & =R SYdn & fafau |
Write the four utilisations at hydrochloric acid.

SR sAfaferan @1 22 semew i

What is neutralisation reaction ? Give an example.

fr=fafea aifenl =t gwaT fafea ifsg

Draw the structure of the following compounds :

(i) &IEH 3 (Ethanoic acid) (i) 271 (Butanone)
WQUs-¥H (Section-C)

YRS WYl Uik & fo srevas ugied (vew) w4 27

What are necessary components for photosynthesis ?

ST U FAEH H ol S 27

What are differences between xylem and phloem ?

W % fafma & o ame wwwe § sfusan daed w5 39
ferfegd forar sirar 272

How are lungs designed in human beings to maximise the area

for exchange of gases ?
TR SR § ST it a fie €7

What is the role of the acid in our stomach ?

IS F1 R? 3 Sesh ugred % A ferd)

What are Excretion? What the name of two excretory materials?

e fawm 71 272

What is organic evolution ?
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" W uye (Long Type Questions)
|t Uyl T IWX 150 | 200 I N )

Write the correct answer of all questions about 150 to 200 words

from every sections

19. @=s fod & g faga W #1 wefafy 5 gaemd) 6

Explain working principle of electric motor through neat diagram.

YAl or

IfEe 9 foha 7R & B 8?7 faf= yeR & < # 3= o 2

How many types of defects of Vision ?

What are the causes of different defects of vision ?

20. TR M 27 ST B WY Uy 5

What is calcination ? Explain with example.

HAYAT or
v wrer (Hifeam wEe) fFg YR 9@ s 22
sfafshar &1 T gdieo & g fae

How is washing soda prepared ? Write the reaction with

chemical equations.

21. S gefa & firfae & guemd) 5

Explain Bio-mass of pyramid

3AYdT or
AME Afdsh 1 WS e AMifehd a3 s |

Draw neat and labelled diagram of human brain.

kkkkkkhkk

1 TR o
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Set-III

15

aqﬁm U990 ohl 3« (Answer of Objective type Questions)

13.
L& g
21.
25.
29,
33.
37.
40.

Is

2.

2.

o s I v A S+ [ < S e S G PR < W &

10.
14.
18.
22,
26.
30.
34.
37.

O @ > 0> 0 0O OW

12,
19,
23.
27,
31.
35.
38.

> W w0600 U0 w 0o >

12,
16.
20.
24.
28.
32.
36.
39.

oo S S SO - SRR M s R -

Y ST U9 &l 3T (Answer of short type questions)

QUues-3 (Section-A)

(i) smufad feor wuafda fewor qen smuaq fog @ @ier T sfves
il © & qa § g R

(i) STEH HIOT H HA, TEAT I H TE % STEL Bl T

SUel <qU 1 STEM @i R S ® R 3o g @ wfafea

faega &9 @1, B2 HR 1, THI Yol 7T €|

g &t Ak = P=-2D = - 2m!

"{ﬁﬁ P=%orf=

1

p

1
—2m™

= —=0.50m

= - 50 cm

&-wmrk L

Rt s



10.

16

1 39 = 1 dee/1 TR = 1v/1A
#WW%WW%WWIW@@Wﬁl
mﬁmmﬁmwmmmaﬂnmm%n
H@@Wﬁﬁmaﬁ@ﬁwmmmﬁm
qR HT fRem # R Hda w1, @ 'Y &I o |t fferal gram
& 1 e =g &y :
B 3§ % freafafag o §)
() ¥ 3w T ok qw g §)
(i) v S yguUER @ 2
(i) ST A F I I B G sifuE T 2
(iv) S S H1 IR R fRar s wwar

WUS-T (Section-B)
Qﬁﬁw&mmﬁﬁmﬁﬁaﬁmﬁwﬁwmm
&1 foiv 3@ 2, 38 v sifafea #ag & -
STEWT : CaO + H,0 — Ca(OH),
CNG - Hiifed wregfas g
LPG - %faa Weifeam g
WWﬁw@aa@wwﬁ%mﬁ@ﬁmm
mfﬁaﬁwwé,ﬁf@pﬂ‘@ﬁamﬁ%lmmpﬂmmm%i
(i) 3919 T 9% FE@ F |
(ii) SIfEm Feise s § |

&@ Amershrs—

S‘M_.:
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12.

13

14.

1S

17
(i) Safeal & fmfor §
(iv) |igd gameE o |
3 Ud &R & AAfHa & Foa®y oEu Ud 5 a9dl §, 39

ISR sifafwan wed §

ITEW:  NaOH (aq) + HCl (aq) — NaCl (aqg) + H20 ()

5 H 0O
i 393:11555311?[: BE
@ H—(IZ—C-O—H
H
4 H H O H
(i) =M ¢ EE
H—C—C—C—?—H
(v
H H H

@Ug-H (Section-C)

YHI-Hyemu & fou smavas wew e 2

(i) HIEA-SEAFERES (i) I F qHET

(iii) STt TS (iv) FARIEA

SEe™ T
() € S wd Yferd @S #1 () I8 @Y TEIel w1 R
TGO il 2 FHl 2

(i) 399 S&@@ wd Yfaa @ (i) z@H @y Ul @ qfiesd
Faull &1 UEET W W SR FW TE A A WE B 2
= 21

AHe |{EEE B IHARHG Hfewn eidt 81 At e ofinfod d9wa

® Jhed HL A g8 T 80 o HiK & SUEX BONI oFd:



16.

17.

18.

19.

18

Hfewred w & sfamer ? fF TR BERY w1 %A fushad 8
S 1
HAERE § U S Al $SIEH WIS S urEd TR HWiemH H &
T AR H ST HISH bl SRl Sl €, @itk Sel W W W S
ot $IEH 39 991 Heh| U8 HISH & WY I g WM Ff oA @
99d ¥ T S 2
St @ IR 9 SuvEd fwae & woraEd IO eafits ugredf @
kT ISt weara ¢ 3 Seasit uxiel gian daen g e )
gedl W gaAE Sifed Wil &1 faee WRY ¥ Ul RO Wi
wital & ufifeorfq ok araEeRor & HER eREe ufedd & wRo
A  Goid Sd § BHa 39 Ufed ol Sl fa@™ (organic
evolution) &&d B

e Swlg uv @ I

(Answer of long type questions)

; qi
s A e —i
et . i oy v
[y
e 2 L
R . Sty
i {
DL~ a - T L+ B
] J_Ew; S e —— ? _":ﬁm""" } L a
i e e g

E SR ¥ UW YalEd e 2, @ g% % gEehid &9 % SR
Fecll & I oSl W GHH A &% fouRd W@ w1 @ o
qﬁﬁgmﬁﬁmﬁéﬁmﬁmwwwm‘%l ferafia
foon & 9@ #E FW F IR CH dogE w@ wH o © e

m‘rm

Vi A
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R Yol T A 21 3R =R ¥ IE@ # =i §is g 9
A T faga @ #1 w1 HE e A 2

3d: W e Whd ¢ foh fagd X Uw @ 99 2, & faga
391 I AfAw 3o F ufkafda 2 < 2

Or
Ife W gera: 9 YR & B ©

() Frere-3fe <
(i) - W
(i) SH-gLEfefar
(i) fFrre-3fe S & &R :
(%) i @ e g, ford A s e @ e
T 9g S 2|
(@) HA-ofg #1 Ay A 8 s @ o g w w5l
FH B I
(i) T e W & RO :
() e B @ S 8, e w-de @ e @ =
# g w7 7 9w @
(@) T9-oi9 stfes qaen & s ? e Wi gi we W
2l
(i) () SU-SREIG & FRO:  FgEEn ¥ 49 o9 & 9% &0
g S 2 2 oy fafoad aiwafml # e w2 s 2

ﬁ[w\fr-g h Ay -
SIS



20

(@) U@ 3w ot frebhe gfed ok gwfea <M @ dfeq =t
BETI S
20. FEAITH: S F IS FAUF Q H AUHT W AGd § T FE
SMFATES | Ui @ S ) e e s 2
FEE SFEH F A TR (CaCO;) & e § Sfevram
SFEE U B0 21 WA @ co, N9 ot Frwerar 2

a9
CaCO3 _, Ca0 + CO;

YR & FEe & framm @ zno @ik co, a9 3
ZnCOg3 T ZnO + CO3
TF G HET SN IUYH SAUEEE H ITEN g SRS §

uIg W oA s 2

CaO+C - Cu+CO
g

Zn0 + C Zn +Co
—_—

HYAr
Hifean wreie #1 IARA wed fafy § e s 21 sw fafy §
Wfsa deiEe B WgW W @ emfEr 9 dgw a s
FETSEHES T yafed fhar s ¥ s wifean ewem
FEHE T SFTIET W e 2|

NH3 + H20 + CO2; — NH4HCO3
NaCl + NH4HCO3 —  NaHCOj3,; + NH4Cl,

ST I DR FE foren W B ™ T wE W wifean wEhe
W el 1 R g @ o e ger s e s

u(‘fﬂ'\- e

ﬂ&*}*
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s
2 NaHCO3 _, Naz2CO3 + CO2 + H20
NaxCQ3; @& Na2C03.10H20

AR S FeT 9 (Co, = el W) B F= A B wY F
VAR # W % wR1 39 fafy ) emifrn-gier fafy wwr s )
U ITANT: (i) ®HUS HA H

(ii) ST 1 SR FARAM [ HA H |

(iii) f9wH® & w7 F |

21. wmﬁwmﬁ'meﬁﬁaﬁwﬁwW

it geE & S99 HWefy w1 fwfre R 21 9 wefy @
foufe 4 <t smuR @ Wi # SR Yo 9N =) = S5 T e
St @1 Te fufe #1 SR fofrs 2

t-m'ﬁm

Feltas Sstrer

(.ﬁ:?ﬁu Hmmﬂ)

fodta Suserm

(muﬁqa; rmarfn)
wael, g

WIafHE 9
(YThTRTt) g wE

Elelcca
=Y, W, 99 - TI2H

ISl e ufied o Se-ue @ fRfee @ ey

JTgp
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